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'Note : English version of the instructions is printed on the back cover of this Booklet.
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(@ 8

3. uR T REW TR o — 4x — logyy N = 0 %
ngamm%,ﬁNwwmw%?

@ 1

& %

© ﬁ

@ T(Y%W)
DZOL-T-LKM

(2-A)
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1.  x%+x?+ 16 is exactly divisible by x, where xis 4. The number of different solutions of the

a positive integer. The number of all such equation x +y + z = 12, where each of x, y and

. . z is a positive integer, is
possible values of x is

_ (a) 53
@ 3 (b) 54
b 4 ' @ 55
© 5 o | @ 56

d 6
' 5. If I =a%+b2+c? where a and b are

consecutive integers and c = ab, then I is

2. The ﬁumber of (a, b, ¢), where a, b, ¢ are (a) an even number and it is not a square _of

an integer
positive integers such that abe.= 30, is ' (b) an odd number and it is not a square of
. ' an integer ’
(a) 30
(¢) square of an even integer
(b)( 27 R ‘ : (d) square of an odd integer
@ 9 .
@ 8 ' 6. If the number 23P62971335 is divisible by the
‘ smallest odd composite number, then what is
the value of P ?
3. If the roots of the quadratic equation| (@) 4
x2 — 4x —log;, N = 0 are real, then what is the ‘ (b) 5
minimum value of N ? € 6
a 7
@ 1
(b) —1% 7. ‘What is the remainder when the sum
15 + 25 4 35 4+ 45 + 55 is divided by 4 ?
1 . .
—_ : ( 0
© 150 2
b 1
(d) _1 (o) 2
© 10000
@ 3
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® b 2
d 9 @ 17
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9. Q &Rl *1 LCM 3% HCF T 28 TAT 2 | 1+92 J2+43 B+da T Jes+ J100 ,/—10
HCF 3R LCM %1 arm%at 1740 % | aft 5 @ R
T TEAT 240 7, A gEO T 91 R 2
’ @ 1
(a) 420
' b 5
(b) 640 @ 9
(c) 820 @ 10
(d 1040
13. ?Jﬁxm=14\,x\/x\/;%,@m$lmaﬂ'f%?‘
10. frafafgs & 9 fFo e " - a®), x—a2) & @ 1
fawrsa 8, TEix=2a? 2 s
% i ® 5
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' ‘8'. What is the digit in the unit place of_399 ? 11. If 172020 j5 divided by 18, then what is the

remainder ?

(ay 1
@ 1
b)) 3
b) 2
() 7
(c) 16
@ 9
d 17
9. LCM of two numbers is 28 times their HCF. 12. What is the value of
The sum of the HCF and the L.CM is 1740. If 1 1 1 1

+ + = +...+ . ?
one of these numbers is 240, then what is the 1+42 J2+43 J3+44 V99 + 4100

other number ?

(a) 1
(a) 420 ® 5
(b) 640 : © 9
(c) 820 . (d 10
(d) 1040
18. Ifx™ = ¥xx Jx , then what is the value of -
| m?
10. (x™ — a®) is divisible by (x — a), where x # a, for| )
every ‘ (a) : g
(a) natural number n ®) - 1
4
(b) even natural number n only 3
(©) Z .
(¢) odd natural number n only
@ <
(d) prime number n only 4
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14. li@raﬁil,iz,is,ﬂ,ﬂﬁﬁ_@wﬁéﬁ_ 17. T 60 ¥ ) f & wew A W o el
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FR? M, dF TH G AR WY H i A 6
@ 0 HEAT 10 At 8 @t | n T A R R?
(¢c) -55

® 21
(d 55

© 24

15. 110 m Gt TH @S 132 km/hr H THTAH @ 30
A YT W R | 165 m A G B IR B

o foaar T e 2
(@ 653%TS | ’ | |
b 7 , 18. AR x A, x W Wl wm w=F « A A
© 753 x ThTE 1 W TH §, @ y g, y ue wiife
@ 8-5’ ‘ HM Hh y A T k 301 w1 TR | kH
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16. fFfl gowm W wwmw W, g @ @ x%yS
- R | afe st f g o aiffe s
X HEI: G &, 9 a§t i aea = 2 B xSy
(a) 25
®) 3 | © yXx3
(¢ 35 | )
@ 5 (d y3x2
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14. The sum of all possible products taken two at’
a time out of the numbers + 1, + 2, + 3, + 4,5
is
(a O
by -30 -

(¢ -55
(d) 55

15. A train of length 110 m is moving at a uniform
speed of 132 km/hr. The time required to cross
a bridge of length 165 m is
(a) 6-5 seconds
(b) 7 seconds
(¢) 75 seconds
(d 85 seconds

16. The simple interest on a certain sum is
one-fourth of the sum. If the number of-years
and the rate of annual ihterest are
numerically equal, then the number of
years is
(a) 25
M) 3
(© 35
d 5

17.

18. -

DZOL-T-LKM

(7-A)

A 60-page book has n lines per page. If the
number of lines were reduced by 3 in each
page, the number of pages would have to be
increased by 10 to give the same writing

space. What is the value of n ?

(a) 18

®) 21
(c) 24
(d) 30

If x men working x hours per day can do
x units of work in x days, then y men working
y hours per day in y days would be able to do

k units of work. What is the value of k ?

(a) x2y—3
(b) x3y—2
© yix3

Gy
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27 |

(a) 40,00,000 X

(¢) ¥ad 2 IR 3

20. qﬁAn=Pn+1%,qﬁannm‘
el w1 PEEa R, @ Fefafed e W (b)  4,00,000 AR

foram hifsr (© 40,000 T

1. A, 91 Th 9T GEA R | (@ 4,000@'&

2. A, +2THIN T faww @@ R |

3. A, + 1AW TH TH TR | 23. IR U A Ve T x o o= Inaw B, A 28%
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19: Let d(n) denote the number of positive divisors
.- of a positive integer n. Which of the following

are correct 7

1. d(5)=dA1)

2. d(5).d(11) = d(55)
3. d(5)+d(11) = d(16)

Select the correct answer using the code given

below :
(a) 1land3only
b 1 and 2 only -

" (¢) 2and3only

(d 1,2and3

If A, = P, + 1, where P, is the product of the

20.
first n prime numbers, then considér the
following statements :
1. = A, is always a composite number.
2. A, +2is always an odd number.
3. ‘ A, +1is always an even number.
Which of the ‘above stateménts_ is/are correct ?
(a) 1lonly
(b) 2only
(¢ 3only | '
(d) 2and3only
DZOL-T-LKM

21.

22.

23.

(79'—A)

A shopkeeper sells his articles- at their cost
price but uses a faulty balance which reads
1000 gm for 800 gm. What is the éctual profit

percentage ?

(a)  20%
(b) 25%
() 30%
@ 40%

A river 3 m deép and 40 m wide is ‘ﬂowing at
the rate of 2 km/hr and falls into the sea.
What is the amount of water in litres that will

fall into the sea from this river in a minute ?

(a) 40,00,000 litres

(b) = 4,00,000 litres
(6) 40,000 litres

(d) 4,000 litres

Ifa televisionpsetk is sold at T x, a loss of 28%
would be incurred. If it is sold at T y, a profit
of 12% would be incurred. What is the ratio of

ytox?

(a) 41:9
(b)y 31:9
() 23:9
d 14:9




24. T ARR Al FR A 90T F 15 k/hr Y 3

25.
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FH 300 km HI g TER ¥ T w1 Fw Ty
T HTT R | FR A TR =1 0w oft 2

@ 45 km/hr
(b) 50 ken/hr
(c)v. 60 km/hr
d)

75 km/hr

?ﬁjwﬁﬁ%:%:%%mﬁ@m

At ameft ot Pt St § 1 AR =R
TIf¥E T T 96,800 BT R, A ww F 3w
e o 22 |

(a) T 32,000
(b) ¥ 34,500
() T 36,000

(d)

¥ 36,800

26. AR x, y F FTHEAIRR ?ﬁﬁrﬂ%ﬁﬁaa i g

27.

(10-A)

(d)

A/ T AE 2
1.. 2 +v2, xz-yz%W%--
W

ﬁﬁqmﬁﬁuﬁanﬁmgﬁq:

2.

(a) aﬁlﬁlﬁf{é

(b) Fad 2 3K 3

(¢) %ad 3

1,2 3R 3

gmmmmmm.ﬁmaaﬁma;uﬁ
T, §AT | IHh A Iu @ 3 9f A
TN 3N Y, Fouaadd | &

% i ) R S e s oAt

(a) 259¢

b) 2439
(c) 2399

) 2274




24. By izik':’reasing the:speed of his car by 15 km/hr, | 26,
a person covers a distance of 300 km by taking '
an hour less than before. What was the
original speed of the car ?

(a) 45 km/hr
(b) 50 km/hr
(¢) 60 km/hr
(d) 75 km/hr
25 Three persons start a business with
capitals in the ratio — : 1 : —1— The first
: . 3 4 5 ‘
person withdraws half his capital after 27.
4 months. What is his share of profit if the
business-fetches an annual profit of ¥ 96,800 ?
(a) € 32,000
(b) T 34,500
(¢) ¥ 36,000
(d) < 36,800
DZOL-T-LKM (11-A)

If x varies as'y, then which of the following
is/are correct ? o
1. x2+y?variesasx - y2

x .
2. —5 varies inversely as y
y » g

3. ’\‘/xzy varies as 2 x4y2

Select the correct answer using the code given

~ below :
(a) 1land2only
(b) 2 and 3 only
“(¢) 3only
@ 1,2and3
‘Ena was born 4 years after her parents

marriage. Her mother is 3 years younger than.
her father and 24 years older than Ena, who is

13 years old. At what age did Ena’s father get

married ?
(a) 25 years
(b)

24 years
(¢) 23 years

(d

22 years




28. WY H 7Y 60 ¥ B luﬁ,ﬁ%mﬁ 599 BIeT|31.  wEIEl x° - 3x* + 8x% - 1 M x5 4+ 8x% 4 8x 41
%aﬁtthﬁmﬁagr%m@rqw@amé T HCF &1 § ?

%ﬁTWﬁGH&W%IW@IWEﬁWﬂ - )
: a X +

T o TR 2 2 |

@ 18a§ - () (x+1)2
®) ~ 1594 : ' © x2+1
(¢) 1399 . : d x+1)8

@ 1199

: ‘ 82. q WEW % HCF 3N LCM %AW 3x+1
29. T gfew § gt A den N # | e o A 3 30x° + 72 - 10x - 3 ¥ | AR ™ wER
T EE A x% W glg AN 2 3 sv A 1% 6x2+5x+1%,ﬁ§|ﬂ3§ﬁaﬁl%?

H F Ad R | QAN F ool A g § -

3@ H T A o (a; 15x2+4x+‘3k
@ N3 & ' : (b)  15x% +4x -3
(b) N TR ~ () 15x%-4x+3
© N¥afw o @ 15x%-4x-3

(d)  TEN D A T sl et ? ,
33. IR (p+2)(2q-1)=2pq—10 3R

30. 211'1\72,ab+xy—xb=OC’:1"|Tbc+'yz—cy=0 g, (p—2)(2q—-1)=‘2pAqk—10 %,?ﬁpq%lﬁ?

§+3 reh S R 2 . W '
VA

(a) % (a) -10
b

by - _
y (b) 5

© 1 : © 5

@ o @ 10
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28. Mahesh is 60 years old. lRam is 5 years|gy,
younger to Mahesh and 4 years elder to Raju.
Babu is a youngervbrother of Raju and he is
6 years youngér. What is the age difference

between Mahesh and Babu ?

(a) 18 years

(b) 15 years

(¢) 18 years

(d) 11years

32.

29. The number of itéms in a booklet is N In the
first year it’here is an increase of x% in this
number and in the subsequent year there is a
decrease of x%. At the end of the two years,
what will be the number of items in the

booklet ?
(a) LessthanN
(b) Equal toN
(¢) More than N
| (d) It depends on the value of N

If ab + xy —xb =0 and bc +yz—cy =0, then 33.

whatis =+ i equal to ?
a z :
(a)

(b)

<o T«

funy

(c)

@ o0

(13-A)
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What is the HCF of the polynomials

‘ -3x4+3x2-1 and 5 +3x2+3x+17?

(@ &x+1
(b) (x+1)7
() = +1
@  x+1P

The HCF and the LCM of two polynomials are
3x + 1 and 30x3 + 7x2 — 10x — 3 respectively. If

one polynomial is 6x2 + 5x + 1, then what is

the other polynomiél ?
(a) 15x%+4x+3
(b) 15x%+4x-3
(c) , 15x% - 4x+ 3

(d 15x2-4x-3

If (p+2)(2q-1)=2pg—10 and
(p—2)(2q ~ 1) = 2pq — 10, then what is

pq equal to ?
(a) -10
(b) -5

() 5

d 10




2 i 2 2

a“ +ac a‘“-c¢ 2c 3 38.
34, —_—— _ +
a2c—c3 a20+2ac2+c3 az-—c2 a+c
T HF FT 2 ?
a 0
b 1
(c) ac
' a? +¢2
@ -8
. a+4+c
35. 4x*+8’ - ax+ 1w AhEm AN 2
(a) 2x2-2x-1
(b) 2x2-x;1
(c) 2x2+2x'+1
. 389.
d 2x2+2x-1
36. UH Q Il I WEA F Il F ATHA 13 D
IR ST % I B e X ¥ o G Sk
ﬁwﬁmwaim%léw%a:ﬁaiﬁm
TOF%hE o T B 2
(a) 35
(b) 40
(c)_ 45
d 54
37. X - Y __Z% 3 o fPrafifea § 9
b+e¢e e¢+a b-a - ‘
I TH G R 2
(a) x+y+z=0
(b) x-y=z=0
(© x+y-z=0
d) X+2y+3z=0
DZOL-T-LKM (14-A)

(a)

~(b)

X, YR ZF @ ©F & HanH 956 HE:
4 ke/hr, 5 km/hr 3R 6 kn/hr & T0T FE ¥ |
Y, X ¥ 2 691G WIOW T @ l_Z#ﬁY?f'%ﬁﬁ
T YA WO S SR e 3 2 X @
T 99 A fee 2,

.. 3 .
(a) Ea%‘

4 .
(b) gué

nqaﬁmqyfm%,ﬁ 1-x-x"+ x™ fopmdr
fsw ? 2

(@ 1+x?2

b) (1-x)?

(c) 1-2x —x2

(d) 2

1+2x-x

40. AP IxAGI B g & ¢ 75 8

S W T R 6 IW T o xo o ga |
x foraes s ? 2

20%
25%

(c0 50%

(d)

100%




34. What is the value of
'a2+ac_ a2—02'v_ 2¢c N 3
aZc-¢2 aZc+2ac? + ¢ a2 -¢2 a+c
v(a) 0
b 1
ac
©
. a2 +c2
@ -2
a+c

35. What is the square root of 4x* + 8x3 —4x + 1?
(a) 2x2-2x-1
b 2x2-x-1
() 2x%+2x +1
@ 2x%+2x-1
36. The sum of the digits of a two digit number is
13 and the difference between the number and
that formed by reversing the digits is 27. What
is the product of the digits of the number ?
(a) 35 )
(b) 40
(c) 45
(d) 54
37. If x ¥y .z , then which one of the
b+e c¢+a b-a
following is correct ?
(a) x+y+z=0
b) x-y-z=0
(¢ x+y-z=0_
@ x+2y+3z=0
DZOL-T-LKM

38.

39.

40.

X, Y and Z travel from the same place with
uniform speeds 4 km/hr, 5 km/hr and 6 km/hr
respectively. Y starts 2 hours after X. How
long after Y must Z start in order that they

overtake X at the same instant ?

(a)

hours
(b)

é hours
3

hours

(c)

|

(d)

—1—1 hours
8

1—x —x2 + x**1 where n is a natural number,
is divisible by

(@) 1 +x)?

B  (1-x2

© 1-2x—x2

1+2x—-%x2

Gy

A person sold an article for ¥ 75 which cost
him ¥ x. He finds that he realised x% profit on

his outlay. What is x equal to ?

(a) 20%
b)) 25%
(¢) 50%
(d) 100%

(15-A) -




41. T BRI TH AT L H | AR T ohea |44, {%@wﬂ@ﬁﬁwﬁqﬁ%ﬁaﬁﬁ%&ﬁm
9 x kmph 34 geft, @ aon y © A § gf & for w&m ) St R 2

A STt | Ann et ot o 2 (a) U qUrieh T e
(b) T UIleh T T A

@ xe-nty (©) T YuilH ol

® xt-yty? | (@ = YUt FT HCF

© xt-pu - 45. IR T N A Freen wfer 2, @ Pt o
¥ B T Y 2

@ x (t+7) ty

1 T IS fawd g |

42. V9 T g H A fean wman @, @ fReh gf 2. 3! G AT R |
T it § o oo v S| g & Wi R Ry T g 1w w0 w I g
® AGPAET BT § o W 840 m PRA H| Ly dmmy

4 9HUE AT B | W 122:50 m FRY & fraan b) a2
TqHY N 2 .
(© 1 3R 2aMt
(a) 53HTE @ T@13mad2
(b) 55 UHE
' ' 46. M cosec 6 —sin 6 = m I sec 6 — coSG:n%,
() 6w , 4 2 2 4
‘ - ?ﬁm3n3+m3n3 ﬁmﬁaw%?
(d) 658HE @ 0
b 1
43. IR 6% ¢**5 = g (famr T } 1logy, 2 = 0301 (¢ mn
3R log;q 3 = 0-477), it Frafafed & & |- (d m2n2
T GE R ? ‘
47. AR cos 0 + sec 8=k B, A sin2 0 — tan20 H
(a) O0<x«<1 , ‘—TFTERTI%?
b)) 1<x<2 . (a) 4-k
2
© 2<x<3 b) 4-k
() k2-4
d 3<x<4
d k2+2
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41. A car did a journey in t hours. Had the 44. The Euclidean algorithm is used to calculate

average speed been x kmph greater, the the
journey would have taken y hours less. How| . (2) squareroot of an integer
long was the journey ? _ ' (b)  cube root of an integer

' (¢) square of an integer
(a x@t-yty 1 °g

‘ i (d) HCF of two integers
®d) xt-yty?!

45. If radius of a sphere is rational, then which of

. 2
© x@t-yty the following is/are correct ?

d x@t+yty o 1. - Its surface area is rational.
| | 2. Its Voluﬁe is ratiénal.
42. When a ball is allowed to fall, the time it takes Select the correct answer using ‘thg code given
to fall any distance varies as the square root of ‘below :
the distance and it takes 4 seconds to ‘ @ & 1 only
fall 78:40 m. How long would it take to fall (b)  2only -

122-50 m ? L (c) Bothland?2

(d) Neither 1 nor 2
(a) 5 seconds ,

®) 55 seconds 46. If cosec  — sin 6 = m and sec 6 — cos 6 = n,
) 4 2 2 4

(¢) .6 seconds then what is m—3_ng + mgng equal to ?

(@ o0
(d) 6-5 seconds
b 1
' (¢) mn
43. If 634 4**5 = 8 (Given log;y2 = 0-301 and
: : (d m?n?
logyy3 = 0-477), then which one of the

following is correct ? o : )
47. 1If cos 6 + sec 8 = k, then what is the value of

(@ O<x<l sin®0 —tanZ0 ?

(a) 4-k

(b) 1<x<2 .
: : ®) 4-k?
(0 2<x<3 © K2_4
(d 3<x<4 : , d kZ+2
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48. AB W ¥ UH F¥gd § TH BT ABC[51. Q FIU w1 W 15° R o FHN w ATHA
21 cos(A+B)+sin (A +B) foresh ste 8 2 %%aqﬁ@%|wﬁwa%mmkgm%z
A 5 .

(@ 0 ' _ k foraeh aTeR 2 2
1
® @ 2
1
(c 3 (b)i %
@ 1 | | © g
49. Frafafga sl w foem it @ 7
1 x% Y T T % R 5
sin0=x+ = AR | |52, frfifEa FoEt W e B
2. x% Hig anras MW F forg 1. o%F mft uri & fow wefiem

- .2A _ - o
cos9=x+l‘_{=|117=[%| 25in20-cosO+4=0ETT ¥ |
X

2. tan®+cot, 28 HH TE B Hehall &, &l

I | A HH-AVE HUT T 2 boon
<< —.
(a) %ad 1 ‘ : 2
b) ¥ 2 Wﬁﬁaﬁw-m/ﬁwwai?
() 13 23Mt (a) . %had 1
@ AA1MMAH 2 (b) I 2
' (¢ 132
| 50. TH NS ¥ S B aREr QR ) w @ Td1sRad2
i | 53. @Tﬂthamm%ﬁaam%w&
@ =X 44 m I g T A T H TG 420 e
5 2, ot Reet e v <t Tt anfie 2
2n : _22 :
® = _WFﬁﬁQn—7)
3n (a) 60m
© 5 (b) 66m
. @ 80m
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48. ABC is a trianglé inscribed in a semicircle of
- - diameter AB. What is cos (A + B) + sin (A + B)

equal to ?
@ o0
1
(b) 1
i 1
(c) E
@ 1

49. Consider the following statements :
1. sin 8 = x + 1 is possiBle for some real
. X
value of x.
2. cos O =x+ 1 is possible for some real
X
" value of x.
Which of the above statements is/are correct ?
(a) 1lonmly
(b) 2 only
(¢) Bothland2
‘(d) Neither 1 nor 2
50. What is the magnitude (in radian) of . the
interior angle of a regular pentagon ?
g
a —_—
(a) 3
2n
(b =
) 5
3r .
(c) 5
4n
d =
(d) 5

DZOL-T-LKM

51.

52.

| b3.

(19-A)

GV

The difference between two angles is 15° and
the sum of the ahgles in radian is f—; The
bigger angle is k times the smaller angle.
What is k equal to ?

(a) %
(b) —Z—
© g '
@ %

Consider the following statements :

1. The equation 2 sin26 —cos 6 +4 =0is

possible for all 6.
2.  tan @ + cot 6 cannot be less than 2, where
0< 6 < —;— .
Which of the above statements is/are correct ?
(a) 1lonly )
(b) 2only
(¢) Both1land2

Neither 1nor 2 -

A road curve is to be laid out on a circle. What
radius should be used if the track is to change
direction by 42° in distance of 44 m ?

(Assume 7 = 272 )

(a) 60m
» 66m '
(¢ 75m
@ 80m




54. 3sin 6~ 4 T ferHaH AT FA R ? 58. IR cosec ® —sin 6 = p? 3N sec 6 —cos B =3
(8 -4 | 2, @ tan 6 FT HH FAT R 2
® -1 | | @ P
(c) .0 q
@ 1 k o 2
- | P
55. ?T& sin 6 + cos 6 = /2 %, o (© pq
5in® 8 + cos® 6 + 6 sin2 6 cos? o forger ST @ 2 (@ p?qg?
@ I 5
4 59. IR 0<a,p<90°5d THR & fh cos(a—P) = 1
) § %,?ﬁ sin o — sin B + cos o — cos B fraes
4 TR ?
@ 1 .
(@ -1
' 7
@ 7 M) 0
(c) 1
56. 9sin® 0+ 16 cos? 0 1 =IAAH U 1 B ?
' ' @ 2
a) O .
(b) 9 ‘ 60. Frafifgd st w =R iR .
(0 16 o :
1. cos 61° + sin 29° T HH 1 ¥ 3l & &
@ 25 | |
Thal g | ' :
57. AR cosa7° 4sinato=k &, A 2 tan23°-cot6T°H AN O A B |
cos247°—sin247°$ltlT-TW%? @'ﬂ?ﬁﬁ@ﬂﬂ?—ﬂ/ﬁ%ﬂﬁ%@"
@ ky2-k2 ' @ a1
b), —ky2-k2 ’ , b w2
© kyl1-k?2 (@ 13k een
@ -ky1-k2 - ) @ T@13mad2
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54. What is the maximum value of 3sin6 -4 ?
(a) -4 '
b -1
© . 0
@ 1
§55. If sin 6 + cos B = \[5, then what is
sin® 0 + cos® 6 + 6 sin? 6 cosg 0 equai to?
' 1
-8
b 2
(b) 2
@ 1
" 7
d L
(d 1
56. Whatis .t_he least value of 9 sin? 6 + 16 cos? 6 ?
(@ O
() 9
(¢ 16
@ 25
87. If cos 47° + sin 47° = k, then what is the value
of cos? 47° —sin2 47° ?
(a) k,/2 ~ k2
(b) -ky2-k?2
. © kyl-k?
@ -kyl-k?
DZOL-T-LKM

68.

59.

60.

(21-A)

()

If cosec 6 — sin O = p3 and sec 0 — cos 6 = g2,

then what is the value of tan 6 ?

@ P
q
® 1
p »
(e Pa
@ p2 q2

If 0 < o, P < 90° such that cos (o — B) = 1, then
what is sin o — sin B + cos o — cos § equal to ?

@ -1
® 0
© 1
@ 2

Consider the following statements :

1. The value Qf cos 61° + sin 29° cannot

exceed 1.

2. The value of tan 23° — cot 67° is less .
than O.

Which >of the above staterﬁents is/are correct ?
@ 1 only‘
(b) 2only

(¢) Both1l a;ld 2

'Neither 1 nor 2




61. T SgH¥ ABCD ¥, ~ B = 90° 3it . |64, ABC T% wwag fiyw } | Y1 BC, D W .

AB2+BC? + CD?~ AD? = 02, @ £ ACD SR gt @t & R BC = 3BD | AD?
forep SO R 2 T AB? § g w22
(a) 7:9

(a) 30°

’ , , _ - () 1:3
) 60° ' (¢ 5:7

© 90° @ 1:2

@ 120°

65. ﬁmﬁmwﬁmﬁwﬁm:
1. e % fael hg® W wwgwtee

62. TH AABCH,AC=12cm, AB=16cm 3R LA _ ﬁmﬁam%l
#1 o AD§ | AR BD = 4 em 3, @ DC N mﬁwgmaﬁ%w@%ﬁﬂé
WW%’ . : w1 oft W@ AR g ) eAETie
@  2em - o st 21
" 3ch STYF § § PA-AVA we T A 2
, (a) Had 1
(© 4cm & w2
@ sem © 13 23

) ??ﬁl:’:ﬁ(?é’lz

63. ABCD U% Wb 9gY9 2 | %10 A, B,C 3 D| - DT |
% e 39 # w PQ,Raﬁtsmm 66. IR & ¥E A =€, Wk g e ok

% | ZPQR+ RSP fous sust 2 2 IR SRS H, C 3R V &, @ 3nvE® + ov?
: ' foroeh sqet 2 2
(&) 90° _
(a) C2H2
- (b) 135° ‘
(b) 2C2H2
(¢) 180° :
() 5C2H2
d 270°
(dy 7C2H2
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61. In’a quadrilateral ABCD, ZB = 90° and|64.. ABCisan equilateral triangle. The side BC is

AB2 + BC? + CD2 - AD? = 0, then what is . trisected at D such that BC = 3 BD. What is
£ ACD equal to ? ' _ " the ratio of AD? to AB? ?
@ 30° (a 7:9
®» 1:3

(b) 60° .

. } (e) 5:7
© 90° . . @ 1:2
@ 120°

65. Consider the following statements :

62. Ina AABC, AC =12 cm, AB = 16 cm and AD 1. The diagonals of a trapezium divide each
is the bisector of Z A. If BD = 4 c¢cm, then what ' other proportionally. o

is DC equal to ?
- 2. Any line drawn parallel to the parallel

(a) 2 cm ‘ : sides of a trapezium divides the
non-parallel sides proportionally.

(b) 3cm ‘

Which of the above statements is/are correct ?
(¢) 4cm

(a) 1lonly

@ 5em b 2 only:

(¢) Both1and?2

63. ABCD is a cyclic quadrilateral. The bisectors (d) Neither 1 nor 2

of the angles A, B, C and D cut the circle

at P, Q R and S respectively. What is
66. If H, C and V are respectively the height,

ZPQR + ZRSPequalto?.. ,
' curved surface area and volume of a cone, then
(a) 90° " whatis 3nVH® + ov> equal to ?
(b) 135° (a) C%H?
: 2112
(¢) 180° by 2C“H
(¢) 5C2H?
(d) 270°
@ 7C%H2
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68.

69.

70.

DZOL-T-LKM

8cmﬁwmm3ﬁ@€mﬁ?{ﬁ 2 mm
mmmﬁﬁﬁﬁﬁmﬁ%wﬁmm
29

. (a) 512

(b)
() 256000
(d)

1024

512000

& st Y S Y 40 cm 3R 41 em § 1 IR
Brgs i 9P 90 cm B, @ TEET SAB T
27

(a) |
(b)

(© 150 cm?
(d)

90 cm?

135 cm?

180 cm?

T gHEgds & fasul o 2 3E % ot 2§ ok

mqﬁmﬁwﬁ%?ﬁmﬁemm
? | auEga w1 Aaed T R 2

(a) 487t 313
(b) 36 TS
(© 247 T
(d) 123 3

T gl By w1 gewa @ R, 9k afaw
ﬁﬁws»cm%aﬁ(wqw@mw‘iﬁm
4cm%‘7

(a) 20cm?
(b) 18 cm?
(e) 16 cm?

(d 10cm?

72.

73.

74.

(24-A)

(c) 5:6:7
(d)

T A o A 10% hi gfg ik e
10% 1 e} 1 St B | @ AU AT F ST%A
T o1 Bh T 2

() Tglg T @ e

(b) 1% Ifg
() 1% HHY
(d) 10% < HHt

q A F G SBEl BT AT 1 4 R

3% I hT STITA T B 2
(a) 1:16
(b) i:l2
(0 1:10
d 1:8

wéﬁﬁaﬁ,ﬁ@émﬁém:mm,
15cm 3R 10cm & | 45 m ! T, 0-15 m Ft
SgrS 3 3 m A S areht dar H T A
raft €8l Y SEEmAT R 2

(a) 12450

(b) 11250

(¢ 6750

(d I9g® A A FE T8




67. How many solid lead balls éach of diameter | 71. In a triangle, values of all the angles are

2 mm can be made from a solid lead ball of integers (in degree measure). Which one of the
radius 8 cm ? following cannot be the proportion of their
. 0 ,
(a) 512 measures ?
(b) 1024 (a) 1:2:3
() 256000 (b) 3:4:5
(d) 512000 () 5:6:7
d 6:7:8

68. The two sides of a triangle are 40 cm and A
41 cm. If the perimeter of the triangle is|72. The length of a rectangle is increased by 10%

90 cm, what is its area ? and breadth is decreased by 10%. Then the
(a) 90 cm? area of the new regtangle is

(b) 135 cem?2 (a) neither increased nor decreased

() 150 cml2 (b)  increased by 1%

(d 180 cm? (¢) decreased by 1% |

(d) decreased by 10%

69. The diagonals of a rhombus differ by 2 units : ,
-and its perimeter exceeds the sum of the|78. The surface areas of two spheres are in the

diagonals by 6 units. What is the area of the ratio 1 : 4. What is the ratio of their volumes ?
9 : \
rhombus 7 (@ 1:16
' (a) 48 square units v

\ . (b) 1:12

(b) 36 square units .
(¢) 1:10
(c) 24 square units
d- 1:8

(d) 12 square units

74. The length, breadth and height of a brick are

70. ti f a right-angled triangle, if .
0. What is the area of a right-angled triangle, i 20cm, 15em and 10 em respectively. The

the radius of the circumcircle is 5cm and
u et number of bricks required to construct a wall

altitude d to the hypot is 4 cm ?
ride drawn to the hypotenuse is 4 em with dimensions 45 m length, 0-15 m breadth

(a) 20 cm?2 = and 3 m height is
(b) 18 cm?2 (@) 12450,
2 (b) 11250
(¢) 16 cm
. (c) 6750
(d 10 cm? ' (d) None of the above
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75. af¥ TH GW aEET & Wh Al w1 A, | 78. o fw ABCH, a2 £A=82B=6C¥},
s o R 5 A g 8, Ay <ArsoRmmIRR? |

‘ﬂé‘ﬁ'w%? S (@ 90°

(a) WeHA | | (b) 120°

b)) FAYSA (o) 135° -
() U | @ 150°
@ T

| , 79, aﬁ@aﬁaﬁt@aﬁﬁqﬁmwé,?ﬁ
76. Th WERRA H TRAT 11 km TR # 5000 e Ta ¥ oA B T F GG § G FA

e & | fed S foan w2 22

o i “=g7g (a) 1:m
(a) 175cm (b) 2:m
(b) 35cm (@ 3:m
© T0em C @ 4:m
‘(d) ‘140cm

8o s aaR Bige B yeell fit Al P
77. O Wit ¥ ARAH] B IIIC 1: 4 § IR o0 QUi (cm ®) § | T QR HT PHEA FA
TEl T I 4 : 5 8 | SR Fegd 22

ST w1 8 ?
(a) 60
(a) 25:64
. (b)y 120
(b) 16:25
| (¢ 9:16 © 360
“(d 5:9 d) 480
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75. If the sum of all interior anglés of a regular |{78. In a triangle ABC, if2 £ZA=3«B-= 6 £ C,

polygon is twice the sum of all its exterior _then whatis Z A + Z C equal to ?
angles, then the polygon is '
. (a) 90°
(a) Hexagon '
o (b)  120°
(b) Octagon
. (© 135°
(¢) Nonagon
(d) 150°

(d) Decagon

79. If the perimeter of a circle and a square are
76. A bicycle wheel makes 5000 revolutions in

moving 11 km. What is the radius of the

wheel ? (Assume 7 = -2—2 )

equal, then what is the ratio of the area of the

circle to that of the square ?

(a 1:=m
(b) 35cm © 3:m
(¢) T70cm @ 4:x
(d) 140 cm
80. The lengths of the sides of a right-angled
77. The volumes of twe cones are in the ratio 1: 4 triangle are consecutive even integers (in cm).
and. their diameters are in the fatio 4 - 5. ~ What is the product of these integers ?
What is the ratio of their heights ? ' ‘
(a) 60
(a) 25:64
(b) 120
(b) 16:25
' 360
© 9:16 ©
d 5:9 . ' (d 480
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. 81.

82.

83.

w Bw ABC # © Siaad 8 | 78 eneit AB

3R AC 1 SHHI: M 3N N | st & & | 3l
IO H HE 07 M LA =700, @ « MON
e ST R 2 |

(a) 90°
(b)y 100°
(e 110°

(d 120°

T qER By 6 el % @it % dee
8,450 =1 3HTE B | 3HF HUl ) TaTE F4T R 2
50 FHTE

55 $hTS

(© 60FHIS

65 3HIS

(a)

(b)

(d)

T AR % ¥ | AR Byw i 9 gmia
@Y I A kTR, @ kB AE T
22

(a) 4

b) 2

© 1

1
2
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(d)

84.

85.

86.

(28—-A)

3 T H %l T FAE m?
gRETdt 1 ST R ?

:,n4% | 3T

(a) m:n
(b) n:m
(¢ m:n

(d m?:n
S ABC i wifedeet AD 2 | AR AD w wiE
g PR, @ feffRea 4 A ww gt & 2

@ TS PAB &1 &, By PAC &
qIFA § At 2

&) B¥ PAB w1 e, Fyw PAC ¥
TP F T 3

© B¥a PAB w1 d&wwe, Bys PAC &
FABA T TH-GTs &

@ B¥s PAB %1 dwww, Brys pAaCc &
éawam:mm%

o r %@‘eﬁ%%ﬁmeaﬁwaﬁﬁaﬁ

@gw%srq»—cfw%?

@) %rze

1 ' . O 0

(b) Erz (6—2sm§ COSEJ
1 . 0 0 |

(c) Er2 (e—sm§ COSEJ

(d) %rz sing cos g-




81, A circle is inscribed in a triangle ABC. It |84.
touches the sides AB and AC at M and N
respectively. If O is the ’cent;'e of the circle and |
LA= 7Q°, then what is £ MON equal to ?

(a) 90°
(b) 100°
(e)  110°
‘ 85.
(d) 120°
82. The sum of the squares of sides of a
" right-angled triangle is 8,450 square units.
What is the length of its hypotenuse ?
(a) 50 units
(b) 55 units
(c) 60 units
(@ 65 units

83. A triangle énd a parallelogram have equal |ga
areas and equal bases. If the altitude of the -
triangle is' k times the altitude of the
parallelogram, then what is the value of k ?

(a) 4
b)) 2.
@ 1
1
d =
(d) 9
DZOL-T-LKM ! (29-A)

Areas of two squares are in the ratio m? : n?.

What is the ratio of their perimeters ?

(a) m:n

b)) n:m
(¢ m:n2

(@ m2:n_

AD is the median of the triangle ABC. If P is
any point on AD, then which one of the

following is correct ?

(a) Area of triangle PAB is greater than the
area of triangle PAC

(b) Area of triangle PAB is equal to area of
triangle PAC ’

(c) Area of triangle PAB is one-fourth of the
area of triangle PAC

(d) Area of triangle PAB is half of the area

of triangle PAC

What is the area of a segment of a circle of

radius r subtending an angle 0 at the centre ?

(a) % r2 e

® e (9—2sin-g— cosg)
(c) %rz (6 - sing cosg]
(d) %rz sing cos g




87. UH By ABC & Frmd ¢ W wwshivr § | wH |89, @m@%mvféﬁawﬁiﬁﬁwﬁxaﬁt
. ohfm fF Ac W B farg P ¥ o BC W B ox ¥ | AR aed H $u ax B, A WA K
g Q ¥ | Feaffea el §f @ B-wR @ I

W o - (qmvﬁﬁnzm%)
1. AQZ+BP2=AB2 +PQ?

@+ +Pe @ 11x3
2. AB=2PQ

, (b) 22x3

= T 1T He 1 T@ TS |8 ST/ gAY

N 4453
(a) Had 1 © *
(b ¥ 2 | @  55x3
(¢) 13w eamt

@ JTd@13WAE2 '
90. aﬁwmaﬁm, eE, FuE, I

‘maﬁ'{mm:p,vq,r,sﬁ(tg,?ﬁ_

| | o 1,11 oy ;
88. R MW Fren It Txfiw s o ot W @ pq " . e E
THR W I & T 39 g ot o ofief wE

W R Y @ RE A e ey AR @ T
w1t & R @ o o deet 42 em? R, @ R
v s it Bem v @ 2 o 2
o SR 7 - 22) - | s
-(a) 5cm s
(©), E
b) 7em
© 10em . %) %
(d 14cm
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87. ABC is a triangle right-angled at C. Let P be
any point on AC and Q be-any point on BC.
Which of the following statements - is/are

giorrect ?
1. AQ?+BP?=AB?+PQ?
2. AB=2PQ

" Belect the correct answer using the code given

l;?low :
(a) 1only
b 2 ;nly
(¢) Both1land2
- Neither 1 nor 2

(d)

gs.

Four circular coins of equal rgdius are placed
with their centres coinciding with four vertices
ofaf square. Each coin touches two other coins.

If the uncovered area of the square is 42 cm?,

théen what is the radius of each coin ? -

_ (Assume T = % )
(a‘l). 5 cm
b 7cm
(¢ 10cm
d 1l4em
DZOL-T-LKM '

89.

90.

(31—A)

The radii of the flat circular faces of a bucket

are x and 2x. If the height of the bucket is 3x,

‘what is the capacity of the bucket ?

(Assume 1t = 272 )

(a) 113
(b) 22x3
(c) 44x°
d 55x°

If p, q, 'r, s and t represent length, breadth,
height, surface area and volume of a cuboid

respectively, then what is 1 + 1 + 1 equal
q

) r

to?
‘S
,(a)" ;
® 2
S
(c) E
2s
(d 3




91.

92.

(D

Ugg el weh when # A3q ¥ | R sreafia 4
e Iefivt Y A6 3% 9,6,7,8,8,9,6,5,4
a7 & | wft ugg =l & 7Rl ot wifedEnt
w1 ? | |

(a) 6

(b) 65

© 17
() 75

af 7 s, R ¥ v F SR 1w T
2, it St 1 AgEr (gm #) 180, 191, 175, 111,
154, 141 3R 176 1§ 7, qt Yg@w < wifedEnn

Q2
(a) 1llgm
(b) 154gm
(c) 175 gm

176 gm

03. ¥ ot 1 Frfrfm Tt # @ W T

a9, fedt e § S I T @ % siwa

© 3R ! e % A s o s 2

(a) GHET HTEY
(b) TONRR ATy
() W@

@ g
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94.

95.

96.

(32—A)

9 it Haual o faear au ], @ oRa-fae
% ataa <t $=Tg w9 g R 2

i 1 fawm

) f= = dm

(© =t dm

(a)

(@ it hl SRERar

@W&Hﬂ%7ﬂ?@‘iﬁaﬂgm:g,5,12,18,
38, 40 3 60 T B | 5 a9 WG TH AT WA
et oy x o 2, sfaw & Sier mn 1 3R

| ufER 6 o g o 1.5 99 wg ol R, A x

A FT R ?

(@ 1

b 2
© 3

d 4

Tk HEl & 100 foe w1 fwa a5 46 ke
& | gl 1 3N T 50 ke 3R wwghrat W
3ied I5H 40 kg ® | ASRAT ¥ TH! H HEAT
ferat 1fers & 2

() 10

(b) 15

) 20

d 25




91.

92.

93.

DZOL-T-LKM

Fifteen - candidates ° appeare'd ‘in  an
examination. The marks of the candidates who
passed in the examination are 9, 6, 7, 8, 8, 9,
6,'5, 4 and 7. What is the median of marks of

all the fifteen candidates ?
(a) 6

(b) 65
) 7
d 75

If the yield (in gm) of barley from 7 plots_ of_‘

size one square yard each, were found to be

180, 191, 175, 111, 154, 141 and 176, then

what is the median yield ?

(a) 111gm

(b) 154gm
(¢ 175gm

(d 176 gm

Which one of the followiné measures of central
tendency will be wused to. determine the
average size of the shoe sold in the shop ?

(a) Arithmetic mean
(b) Geometric mean
(¢ Median

(d) Mode

94.

95.

96.

(33-A)

When' the class intervals have equal width,

the height of a recfangle in a .histogram

represents
(a) Width of the class
(b) Lower class limit

(c) Upper class limit

G

Frequency of the class

The ages of 7 family members are 2, 5, 12, 18,
38, 40 and 60 years respeétively. After 5 years
a new member aged x years is added. If the
mean age of the family now goes up by

1'5 years, then what is the value of x ?

(a 1
b 2
(o0 3
d 4

The mean weight of 100 sfudents in a class is
46 kg. The mean weight of boys is 50 kg and
that of girls is 40 kg. The number of boys

exceeds the number of girls by

(a 10
® 15
© 20
@ 25




97. WMl 25, 65, 73, 75, 83, 76, 17, 15, 7, 14 % TH|99. 2,4, 6, ..., 100 H WifeIrt w1 7 ?
gg=a % wen ¥ fow mu fame @ s

et R 2 (@) 48
@ -1 | ) 49
® 0 © 50
e 1 @ 51
@ 2

100. ¥ TEE ¥ EEHS WEA R UK A

98. Uid V&V x,x+2,x+4,x+6,x+8HI A& m ! :
H: 10 31T 12 § | ST THIG AL TR 2

2 | Tem oft7 Yarort 1 Hrew = R 2

(@ m : : : (aj '2'3§
(b) m-1 | Y120
(c)' m -2 | (¢ 11 .
@ m-3 @ 144
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97.

What is the algebraic sum Qf the deviations
from the mean of a set of values 25, 65, 73, 75,
83,76,17,15,7,14 7 '

(a -1
® o
© 1.
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98. The mean of _ﬁye observations x, x + 2, x + 4,
" X + 6, x + 8 is m. What is the mean of the first
three observations ?
(a) m
(b) m-1
(c) m-2
(d m-3
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99.

100.

(35-A)

What is the median of 2, 4, 6, ..., 100 ?

(a) 48
) 49
() 50
(d) 51

The harmonic mean and the geometric mean
of two numbers are 10 and 12 respectively.
What is their arithmetic mean ?

25
3

V120

) 11

(a)

(b)

(d 144
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